


v, o 0, x2 +y2 + z2 = 198x+202y + 200
(‘1"3'*1) (6("])4'9’?)4‘(2"'} - 30002, then x3 + y3 + z3 - 3xyz equal




@

If a- LS =53 & a*-Xa2+1 = Q_ and
d o
| o A=R=I%

a’ - — =Ythen Y -X equals to.

3

2’ sia(38) )
(a) 39043 -77 2% (b) 38043 - 70

(€) 39043 + 77 (d) 3953 -70
S083~17

®



@x + a) (x+b) (x+c) = x3 -8x2+75x+25, then




@ x' 125

X +25x1= 152, — + —=?

d X
/ (a) 26 (b) 90
_ (c) 40 Jd) 80
X215 ®



@ gs_ .1 B_1.1 ®_1.31
/ bc ac ab ac ab bc ab bc ac
(a-IJ (b-lJ (c—l}g
| + :

_g—__= lo.'_c then | bl_l

g =1

2 -1




@ If a + x2=2006,b + x2 =2007 and ¢ + x2
= 2008, abc = 3. Find the value of

bc ca/b-—&\%c*
gfc a ¥ x2 = 2006, b + x2 = 2007 g1 ¢ +

x2 = 2008, @21 abe = 3. @i

Q%é\:‘.’fbgta\.a b ¢ 1 1 1

——F————— - &1 A BT |

ch bc ca ab a b c¢
: (b) 2

(d) None of these







@ Ifa2+2b=7,b2+4c=-7,c2 + 6a =-14,
(a2+b2+c?) then the value is.
?Tfﬁa2+2b 7,b2+4c=-7,¢c2+6a=-14
,_|a2+b2+c2) dl =1 &1 A9 T |
(b) 25
(d) 46

AT 2ot 4= O %

D 9Q




@ If a, b, ¢ are real numbers such that

(a+l)(b+l)(c+/) a+— — b+; 4,c+—=1, find abc.

\_’——/
L
b

3 n:l—

—4c+1_1m

1
a, b, caar a+ —
C d

m |

aloc-l-_l_-l-(a!'bi-c-l-_l,%,pm;‘j
¢ 37 I S P |
A = TS (a) 2 (b) O

] 9= a’)@t-_L g, (9'1 (d) None of these

@m_



@ If xy + yz + zx = 1, then the equation

X + T+ Z EvR
A - is equal to.

%.Z_'_ZX l-xy 1l-yz 1-xz
afe xy + yz + zx = 1, al Gfiaor &1

x+y+y+z+z+xmﬁ. I

—é—'l"_,‘("hl. 1 - xy 1l—yz 1 - xz
ey M (b) xyz
MY ANYZ()x+y+z (d) ——

& —



Possible value of x for equation
2x* X +X+2 2(x+2)
fz_ 3 '2-3 o +3 0

(3°§'3“*9_°x$ﬂ'ﬂamﬂwﬁﬁ gfe aHiev
- 32;2 _2"332 +X+2 +32(x+2)=0

_7'(;"“2 \/‘ﬂ ('1$2 ' 3(5) (032'
® RO K (24

Obhumh

SN



® If 3x+y =81, 81*¥y = 3 then x and y are.

0, o Iy =8lamm 1xy=3 g al xauyd
Gq A S0 D |
?fﬂno solution 7@:::E y:ﬂ
2772
m ﬁ)x:Z,y:g \ﬂ}g::l—?”y:E
@ ‘l 3 8 8
3®=§




QC
W 0

@ If V512=2%,15625=5" and |343=7"then

3 what will be the value of x -y + z.
afe 512 =25,\15625 =5 3R M3 =T"A x -y
g + Z & A9 8
= () 4 (b) 6
3@ (c) 9 1 3
]5°)

\f§€= (3



@ If 1960 = 22x5bx7¢ the find the value of
22x Tox §c,
afe 1960 = 2ax5bxT7e gt 2-2 X Tbx5-< & A
Wl Q%g'XF

175 7

(a) ) 200

T 56

Lxtxt @ 2000 4 25

3x3¢ =3:3®



One root of the quadratic equation x2 -
bx + 6 =0 and x2 - 6x + ¢ = 0 is equal.
The ratio of the remaining roots is 3: 4.
If all the root are positive integers. Find
the value of b and c respectively.

gfe fgara afievor x2 -bx + 6 = 0 3iv x2 -
+¢c=09 (& Jd A & aAT W qal &I

gqura 3: 4 & f b ar ¢ &1 AH Fawd afe e
gl f& Wit ga g e Qons © |

(a) 3,4 M{SS

(c) 1,6 ®d) 85




If (x+k) is a common factor of (x2+px + g}

and (x2+[x+m), then the value of k is:
%’PK'W':- (ﬂﬂ( e (x+k), (x2+px + q) IR (x%+x+m) TH

_fk*_mllws%‘lm k 1 591 |

(Lkemy, @22 | Bme
0t | an

m-qot?K ®-p



If2x =a +aland 2y = b + b! find the

21:“4” value of Xy + \/(K2 — ])(YI - 1) ‘
@ G afe 2x=a+alaar 2y =b + blal f &

Qg:btﬁ- 0 93 Xy + (xz—l)(yz—l). @

“"*‘("‘*ﬁ(‘“‘é} (@) J(ab+ab) (b)) -~

2

QO'\ (c) %a (d) %b l

U ®



® @ Ifa+b+c=0,a%+b?+c?=10, then the
value of a% + b* + c* is

M““-CL—!P afca+b+c=0,a%+b%+c2=10,a fi
_5 1 A1 817 a* + b* + ¢,
{ (a) 50 ( (b) 25
W) deniied) 5L (d)100
§  eeSE G\"% 1) - )
=420 F~3x x =G, @

N=25



@ Ifa+b+c=0,a2+32192=19,thenthe
value of a* + b* + ¢ is

Q=0 qﬁ‘;a+b+c=0,32+b2+cz=10ﬁmﬁq
’.'J:E &1 91 BT a* + b* + ¢4,
C=-35 M50 (b) 25

(c) 75 (d) 100
Q¥ISHRS

'y



If x _KY_’iand xy+y =7 then the
_L_ X'y KY
=S

Y % value of y is.

2
L+ ﬁx-—xy sqem Y _7g @ y & AW
d x'y xy

1 =F

1.8 g | |

53)/ (a) 1 Y
S

© - @ -



® If 52,54.56....5%¢ = (0.04)-28 then value of
X 1S.

afe 52.54.56....52% = (0,04)28 a1 x &1 A1
g |

(a) S (b) 10

c) 8 7

SQ\(\'P&---"Q @
o _ 5y @
S U x :5



If 23x - 29y = 98, and 29x - 23y = 110

then the value of \x’ +y’ is.

/‘f”‘y) 23x - 29y = 98, 3ilk 29x - 23y = 110
54(“'5) W Jx +y' & HE &
(b) V5
?JL-':?\ (c) 10 (d) 7

% @



and e 4
' y+1 == , then the value
‘d:l of X (y+2) + —+2i
L - x1s
- e x = y
= e _a-2 al

J-(3)+|+?— X y+1 e A
P > —+zih"l‘ﬂ_rl'tﬁ‘ﬂl

Yy X

U (a) 1
Q v (c) -1

(b) O
\/{d]a ®



a-—2

@ Ifx:-%and F== , then the valu
y
AYt A=Y )
MWY=Y- of:Uy+2)+ —+§is
AYr2R 7

Y+ Ay e Y _a-2
z\'ﬁf-'a'c‘ a7 bk Bkl e
3';“'%("‘17' §+ Y @1 a g
~X. o
% (a) 1 (b) O
31_ 2?_&- (c’_l a ®

Y X (@R



@ If 2x% - 166x2+ 2 = 0 then value of x3 - x-
3 is.

afe 2x% - 166x2+ 2 = 0 a1 x3 - x3 &1 91

g |
(a) 758 Z A1) 756
(c) 739

(d) 737 @
')‘(‘1—?37(14 |=0



@ Find the value of x if \/_a+x+4a =
LD Ja+x -+Ja-x

C *‘ﬂﬁ'f \/a+x+\}a X

J;i- rw Ja+x-Ja-x

adx. =lbH "- 2ab a=S 2ab

a-X U)_\) 9/ b’ +1 = (O a+b

-Q-—é(b,"\'\) ¢) a+b ® _:‘I_ b2 +1
.,_Lrb 2ab Z 2

=

—bdl XPT I B |




@ If ax? + bx + ¢ = a(x-p)?, the relation
among a, b, and c is.

/O(ﬁ{-Hou.u. af¢ ax2? + bx + ¢ = a(x-p)?, 1 a, b, and ¢

_ e o &9 o1 e B |

- 9,(&-N‘,Z:'Q“\?"L(3:'1) abc=1 (b) 2b=a + ¢
c) b? = ac Jdib2=4ac

~B2ugp- )

_. io\o\PL

'3=-‘Ro®
(= ap-



Ifp+ qtr= O then the value of
2p°(q+ 1)+ 2q°(p + 1)+ 2r'(p + q)
pqr '
gfep+q+r=0al
(g +1)+2Q°(P+1)+20°(P+ Q)
pqr

BT |

1
3 b) —
(a) 3pqr (b) e

(0l 6 (d) -6
- ®



Ifx= | then find the value of 4x3 +
J3-1

N=
{_5_:_!—_!_ 2x2 - 8x -3.
M x= @ 43 + 2x2 - 8% -3 B A
43 =]
qara | o an=tn- -
(a) O (b) 2




@Find the value of x — -~ =141,

a+b+x X a b

So\v{ﬂ%‘ quﬁaﬁmuﬁ% ST . ?I

a+b+x x a

ebm‘*‘* o)k bf=a,-b

(c) a, -b (d) a, b




x and y are positive real numbers such

Jaza that xJ_+yJ§ 183and x./y + yVx =182
'

Jy = otdh- _
. then value of — (x y) = Ig(ﬂ 36")
AH=183

. a"'b'l-(lb" 192 afe x qo ywmmﬁm H@TQ
(Cl’l’b)-..:,'lﬂ x\/;'+y\/3_r=183fl9ﬂ xﬁ+yJ1_: 1
Ath=9 (X +y) &1 A1 & | ZH‘ x 3%

(a) 73 AB) 146 X S
q:étﬁ"é =18 (c) 63 ® (d) 126 ol

82 T4 s

5



If a2 + 4b2 + 16¢2 = 48 and ab + 4bc +
2ca=24 . Then what is the value of a2 +
Rt iayg b2+ c?
afq a2 + 4b% + 16¢2 = 48 a1 ab + 4bc +
oLy W‘fb(ﬂ(a:l‘g 2ca =24 9 a2 + b2 + ¢2 &1 99 B
XHZ=4R  (a) 12 (b) 16
NI Y212 =¥¢) 21

ey )z o
A== B ca




— + 3l—— =1then find the
\729 729 " 3832
RIS
" _+i%=1mxmmmf
AB) 8
(d) 4

®



@ If a=2"9 597" -2 Pthen the
pP+q q+r r+p

1 =Py
o _.:V value of prapensrs is.
| f_ (1-a)(l-Db)(1-c)
Ji4 - _
l#%" Ab=1"c="Fm
P+q q+r r+p
(1+a)(l+b)(1+c)

&1 919 9d13i

g;xgx% (1-a)(1-Db)(l-c)

\ (a) 1 (b) O
| (c) 121 (d) 11



@If JE+JE—JE=0,then the value of (m

ﬁn— p)? is.

Jmafn=3p M Vm+yn-p=0,7 (m+n-pRaAH

Wl.’m-Rﬁi:P?ﬁ;&ﬁ | .

d] mn -MmMn
WHn-E:—Qﬁv]c) 2mn /kl‘f 4mn
C )24y

®



@ Ifx= 3 +2J§ and y= x3, then y satisfies

AHSE+ TR l Sthe equation.

3 Hl%x=3+2‘/§awy=x3,a1yﬁ1=imﬂwaﬁ

‘ﬂ__,gﬂ_g A &l o |
" y2-18y+1=0 (b)y2+18y+1=0
:‘6\‘\":"‘15 (c)y2-18y-1=0 (d)y2+18y-1=0

= 1643253 @)




b3 + ¢ = 1, then find the value of

@ [fa+b+c=1,a2+b2+c2=9and a3 +

abe b3+03=1,ﬂ?ﬁﬁl+l+l?ﬂﬂ1ﬂ qara

a b c



@ If a, b, ¢, d are positive integers such
that a = bed, b = cda, ¢ = dab and d = abc
(a+b+c+d)

hen th 1 f .
Ab(d':'-él,o(d)g e (ab + be + cd + da)’
afs a, b, ¢, d gr7® QUiis @, @ a =bed, b =

L
(a‘de):\ cda, ¢ = dab ,d = abc dl @+b+c+dy 3
" S d‘-:-\ (ab + be + cd + da)
A &I A4 BT |
4 (a) 16 (b) 4
1 (©)2 @1

Y2 “‘1-45‘@ ==



Ifax=(x+y+z)?,aY=(x+y+z)Z,az=(x

+ y + z)%, then

gfea*=(x+y+2z),av=(x+y+2) az=
— a-=(x+ytz),av=(x+y+2z)3a

A . ty ezl
@mz)ﬁﬁ(wwﬂw (b)2a=x+y+2z

-— — — =E
\)c?x+y+z-—a (d)x=y=2z 3



&)

2 | I
Ifa,b,caresuchthata+b+c=2a2+

b2 +c2=6,a%+Db3+c3=8, thenat+Db*+
¢t is equal to. |6+ 14|
afs a,b,csuysRza+b+c=2a2+h2+
c2=6,a°+b3+c3=8,aq9a*+b*+ctar



If 2x+3y=4y+7z " 6z + 5x find the
a-2b 3b-c¢c 2c-3a
Q K LMBY=K (o) value of 11x + 17y + 20z.

QXHU'*:’Z’KC%‘OHﬁ{ 2x+Jy _4dy+7z 6z+5x @ 11x + 17y

éz-l-er-K(zc-?,&) a-2b 3b-c 2c-3a
+ 20z &1 919 &1 |

[Ind1?4 0L »(E)/O @ b1

(d) None of these

!%2




a ) a b A
( ) -5( +6=0then |[1+— |equals
a+l a+1) . 4

to Q_\jj
L ' /N
N=-Nt6=0 L 3
(x=3NA-2)=0 (a) 2 or 3 ﬂ Jor>
N=
71-.:3_ (c) 1 (@) ~or-

%éﬁ%i_ ‘::j) 2 3



z = 3+410, then z3_—:

/ (a) 334 (b) 216
U

Jf')’234 (d) 254

_l_:\rfs"g
Z
Z-;L-:G
Z






